3CA: Control Change Cause Analysis 

	(0)

Significant Events(a)
(
	(1)

Change to person 
or thing

(include attribute altered) 
	(2)

Agent of change 



(include actor and action)
	(3)

Adverse effect of change
	(4)

Work controls or protective barriers implicated in (1)/(2)

(controls or barriers with direct effect at "the coal face")
	​​
	(5)

Signif-icance

Rating

(1 to 3, where 3 = very)
	​​​​
	(6)

In what way was each measure at (4) ineffective 


(be specific and precise)
	(7)

In what way did upstream* processes fail to identify or prevent the problems noted in (6)

(be specific and precise)
	(8)

"Why"?



(ask "why" of each entry in column 7)

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	








a) Complete column (0); a significant event is one that creates an adverse change in the control of work.
* Upstream meaning organisationally, administratively or managerially prior to the matter in question
b) Complete columns (1) to (4) ONE ROW AT A TIME
c) Review table and assign significance rating in column (5)

d) Decide which rows are to be considered further

e) If required, complete columns (6) to (8) ONE ROW AT A TIME (be specific, general statements are not helpful and reflect lack of insight into actual problems)


